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Câu  trả  lờ i

1. 2.100

2. 1.800

3. 1.600

4. 48.000

5. 27.000

6. 48.000

7. 1.400

8. 1.000

9. 7.200

10. 7.200

11. 6.300

12. 28.000

13. 14.400

14. 3.000

Chia nhỏ từng vấn đề bằng cách sử dụng lũy thừa của mười và / hoặc một nửa để giải
quyết.

1) 70 × 30 = 2.100
30 × 7 = 210

7 × 3 = 21

2) 36 × 50 = 1.800
18 × 5 = 90

9 × 5 = 45

3) 50× 32 = 1.600
5 × 16 = 80
5 × 8 = 40

4) 600 × 80 = 48.000
60 × 8 = 480

6 × 8 = 48

5) 30× 900 = 27.000
3 × 90 = 270

3 × 9 = 27

6) 60× 800 = 48.000
6 × 80 = 480

6 × 8 = 48

7) 20 × 70 = 1.400
10 × 7 = 70

5 × 7 = 35

8) 50× 20 = 1.000
5 × 10 = 50
5 × 5 = 25

9) 60× 120 = 7.200
6 × 12 = 72

6 × 6 = 36

10) 180 × 40 = 7.200
18 × 4 = 72

9 × 4 = 36

11) 70× 90 = 6.300
9 × 70 = 630
7 × 9 = 63

12) 40× 700 = 28.000
4 × 70 = 280

4 × 7 = 28

13) 90× 160 = 14.400
9 × 16 = 144

9 × 8 = 72

14) 60× 50 = 3.000
5 × 60 = 300
6 × 5 = 30
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